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= . Ei HEE Al BE |mtl  (#E Bt HEE faE HE |uwe] (E&E
RIER (E24) i AT 1At 150| & "N &= 77E 50| ke
FEHh HEE g HE |Eal  {FE 14345 150| & 4T 500| ke
3] fift= £ 1773k 50| & IMEE 31745+ 150| @ 125t pN_T) 9= 300| #
EiniE 120| {& HiR VAIRERDZ) 150| 48 (k%5 5= 23 200| kg
B $E KF{7v4k 800| {& R ] ERZ) 100| & PE | ERN H= 300| #&
FE HARE 250| {& g4 ARER, VATV 5 100| & BE =Hst TH) 150| kg
N3k 100 {& 53 bua, BN 800 & HhiEsn =5 HIt 100| kg
RIF wys [TV s & =1 k& Fhyt 50 {& 5 1,000 kg
H 1,320 {A o FE INIE S 100| & 600 4%
EE WbES  [nIY). Ladiq7) 100( @
sk JeiEE =1 47, ¥9%hA4 _ 150| & %58
Bt 2,000 @
Eih HEE sl B el  {HE Ei HEE faE HE |ue] (EE
Eig *f Bt AVAh 580| {& [2/10A L5 T KA bi7::0) 8 =244 2,000| #&
YU4h 20| & | » B ERESN (=34 EHUN'TF 650 &
AAA 600| fA [2/11 A5  Eh HEE Al BE mul HE|RES Wnst ENTF 250( &
I4h 20( {& | # FiF BEER &7, 349 50( ke ERES =34 LI 50| &
AAA 140| {&8 |2/12A %L % Hak FEEIA, ETASH 200| kg REZAR 4 ERN BTV 300 #
YU4h 20| {& | # BE bl YR YY) 500| kg BES Es 1wl 500| kg
H 1,380 1@ A tkst &4, E5491 200| ke g 500 kg
At+hB |FEH5 ke 950 &
e E FEEFH ke 2,300 #
kst EENIY 150 ke
Eih HEE e BE |l #HE K9 Iz&E &4, E5490 50| ke A% 4750ke
Rk LxE #1937, 33754 500| {& 1= 1] &7 5 100 ke 13,580 @
7. E3A% 200| {& xR FEETA N5 S 500| kg 950 A&
R ERDZAS)S 700| {& B ¥ brt 2Ea 100| kg 600 4% g
L& ERUZ)N 200| {& BER EN7Y 50| ke 2,300 & &EE
&R ER *U4hst 30| {& B 1,900 kg
&5 31745+ 100| {&
FEIA VT H 100 {& o
KI5t 3374+ 100| {&
) 200| f& Bt HEE iz = [ {FE
=HE 7', 9795+ 200| {& tam Easn #9551 300 &
=¥ 700| & =BE 400| {&
i 100| {& iy 400| &
BR 337, 5% 800| & kst 200| &
11} ERUZ)N 100| {& xR #1935, KhL1 5+ 600| 1
FHE 7. 7744 400| & HE #9355 100| f&
ERUZ)N 1,000| {& - 7. 75445+ &
B/ 8 77, 32745+ 350( {& iAo 445 150| &
ARt heZ, 705045 100| {& bS] #9354 150( &
X5 EI#F b Wik U 100| {& EE5 #9550 44 &
weast (445 & BEX XE h3IR. 845+ 100| &
A &R 300 kg EE = #9355 150| 4@
FiF NiE EVHY 50| ke wn 4hrya- 445 &
o A5 YN A 100| & B W4 b 20 250( &
B 350 kg Ei& Eii IVER 1,000 kg
6,080 & it 1,000 ke
2,800 {&
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